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[PART-B 2 Descrigtive]

[ Answer question no.1 & any four (4) from the rest [

What are Clinical Trials? Describe the different phases of a clinical
trial.

What is the PNDT Act? What is Prenatal Screening? What are the
most common prenatal screening tests?

Write short notes on:
i. Prenatal Screening
ii. Aminocentesis

a. Define Poisson distribution. State its properties.

b. Assume the mean height of soldiers to be 68 inches with a
variance 10 sq inches. How many soldiers in a regiment of 1000
would you expect to in between 5 feet and 6 feet.[Given ®(0.40) =
0.1554 and @(0.80) = 0.2881]

The following data give yield on 10 plots of land in three samples of
4 plots, 3 plots and 3 plots, under the three varieties of fertilizers A,
Band C

A B C
25 20 24
22 17 26
24 16 30
21

Test at 5% level of significance whether there is any significant
difference in the average yields of land under the three varieties of
fertilizers.[Given, the critical value of F at 5% level of significance
and (2, 7) degrees of freedom is 4.74.

What do you mean by Patent? What are the objects of Patents?
Describe the procedure of acquiring patent.

What is trademark? Write down the characteristics of trademark.
Also describe how the trademark can be renewed, removed and

restored.
What is GI, give some examples? Why GI is beneficial for the
society? Who can apply for GI?
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